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ELECTRONTCS

Time: Three flours Marimum Marks: 50
BftTT gt;r $T qI,T (a) qFr (b)

\|o qm isl sfrr fifrilq I ss* d sr sq-& qrBfr sfu sfRrc tr
Note : Answer all questions.Part (a) of each question is computsory. Answer any one
part from part (b) and (c). The figures in the right-hand margln irdicate marks.

go.r{7unlt-r
l. (o) What do you understand by SCR? 5

sCR * qrc iF{r nryg.& t?
(b) Structural Description and Working of diac and Trigc s

Diac T-ri Triac aft {rffir q urdBfu irt wwtsg?
(c) Deflne two transistor model analysis of SCR? s

scRs5) fr-fffiEy dfsd at cffi{ sflfrqt
qor{/Unit-II

2. (*) List out the five categories of the 8085 instruction. Give eramples of the instructions for
each group.
qrqqt et"tsr Boss frfu tri <ilii qd ctq iM 6t sErr-wFr wrrt.q yBtr ftfugr E

(b) mentton the purpose of SID and SOD tines?
SIDmn SODan"fq,sT s(t{s o} rmqq? 6

(c) srcl dftn ffwqy w *fi{ ftfue r

\Yrite a progrsm on data block transfer. s

Eo(7unit-ln
3. (a) stss IC { Ea ffi R-c *& tr 6

llow many pins are there in 8155 IC?
(b)8tsyStsf tCfct;ra an&flm lxk &-{ qfise sr{rsm fir5i? 5

Draw internal Architechture and pin out dlagre m of 81598I56 IC.
1c; @ffirr crsr 6-r{e{ t enq wr vqs& t? o

A;.Do,q&dA-ffR+EftTrf&
What is mean by interfacing data convertor? Explain in detail about A/t) Convertor.

qan{,zunit-tv
4. (r)www, HTML qk fCpflp 6T qil tFH ftfuq f

Write full form of www. Html snd TCp/Ip.
(b) d€q q dfsq wq fis frw yft{ q.r wnnft r

Explain rnodem intcrconnection and modem datr trsnsmisslon speed.
(c) &wot ftfug r

i. HTML ii. tlttp
Write Short notes on
i. HTML ii. Http

ro.rg/unit-tv
5. (a) LAN, \YAN lrtr MAN 6r ft-wn ftfugr

Write full form of LAN, WAN and MAN
(b) trq!fr fttuq I

i. o'tqq$q-d *-{d{
ii. $r$Tr rfifuo +f,c{
lVrite short notes as
i. Co-axial Cable
ii. Fiber- Optic Cable
(c) cra:r&w i€q-d * ailrr Err wqsrd t? Akq {rq-r}g M 6t wrsrfi r

what is mean by tyireless-Network? Explain yarious wireless network.
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